P n3 . 1
90'980°086'8) auar ap sBu| 3p P 16

90'080'086'81 [sz-e09'899'69 8£°809'899'69 96'1.20'269'SL YT 6VS'C06'YZ ﬁﬂ.uu....-s.s (VW4T HH+H4D+443+0+0+84V=1) ugIsOdsiQ 21q 9p soseibuj ap (110 |

22'9¥8'v9Z'E- 6L°228'T1L 6L 229212 1G'985°90€'0 9G'Z10'62E'2 10'¥2S'LL6'E uorisodsiq 81q17 8p 80s8.6u) 8040 (21

000 000 oo 000 000 000 592007 $0s3:6u| Us sauopeded (11
Z2'9¥8'vz'e" 64249211 6L LL9°2LL 15°9£5'908'9 95'Z10'62£'Z 10'v28'L26'€ (21+11=1) ugpsodsiq 8.qrT ap $0s8i5U} SO0
00'8Y0'v6E'2" 000 oo 000 00'890'¥6E 2" 00'8Y0'¥6E'Z soipisqng A sowsauog soio (13

00°8¥0'¥8E'Z" 000 000 00'0 00'8¥0'v6E 2~ 00'870'Y6E'C SOUBAUOD "M
000 000 000 000 000 000 ssuopeuBisY A sepudigisuell T
07'889'192 L6'E69'6LE L6'€69'6LE 16'€69'61€ 0v'889'192 16'500'88 S00LQUODT SOAGUBAY] S0RO (g!
£9'666'68 Pl LLY'88 7L'LiY'88 vL1LY'88 £9'656'S8 1S1SY'T P 800808y 8p UQ 0 @p opuo (b
10'00S'vZL 22 089'vvE 2L 089'v¥E 2.089'¥PVE 10°00S'¥Z} 12'081'022 SOABNN S8|IAQWONY qog oisenduw) (gt
99'00€'CE _uo.zw_x 20°1€9'v6 20'1£9'v6 8%°00€'CE 5 08€'19 NVSI ugiesuaduiod ap opuog (21
000 000 000 00'0 000 000 $0INaJYeA Bp 081 0 BPUBUB L (L1
258’09 6L 940’ LR 6L 9L 28 6LOLY'LYE 28 8YY'S09 L2896V ¥E (Gi+pi+€1+21+ L1=1) [BOSIS UOE D Bl ep us( SOA! Rl
¥8'6LE'vLE- 000 000 000 8'6LE VLE" Y8'6LE'VLE senjeIapa Sapepiu3 se| 9p s0saibu) S0) Op UPIEZIIGEST P OPUO (11U
00'L65 ¥ZE'} _8. 165'v2€'L 00'165'¥ZE'L 00'16S'vZE' L 00 L6S PZE') 000 ejuey B| 8q0S 018endw) [9p opuo4 (0LY
£9°Zv3'v2s- 00'G61L'08L'} foo'ssi'osL't 00'561'08L'} £5'2rS'ves- €5 LEL'VOE'T {es9iq) A seuijose (64
000 —oc.c 000 jooo 000 000 09]9.A0d 9p UPRIRAXT 81008 Y%L} € (8Y
00'0 000 000 000 000 looo droned |esapa gl ©|9p %9€EL 0 (24
92'691'0€L 8L ¥6L'vES 81'¥6}1'7ES 8L ¥6L'VES 92°691'9€E} ¥ ¥20'86€ sopieg A ug d 21908 duil (9y
26'LEV'9L €2190'L1Z €L190'HZ €£'190'11Z |26 cev'aL 18°€29'vEL SQINQIEOCIPIH BP UYIIEAXT 3P OpuO (S|
000 000 kgd 000 000 000 upresuedwo) ap opuod (v
15°€69'L1L 90'990'0} '} 90'990'0L4'} 90'990'041'L 1SEBO'LLL 9G'ZLE'850'L uoepNesay A UQREZIIEIS| 3P Opuo (8y
81°208'019' 20'86.L'22v'L 20'86L'L2V'L 2096212V L 9)°208'010'2 ¥9'066'918'% JediouNyy OlBWO 4 8P 0PUO (24
09'€26'vLp'9 vZ'820'1£9'2E ¥2'820'1£9'2€ v2'920'1€9'2¢ 09°'€26'VLY'9 ¥9'P0L'9G1'9Z sauopedped ap [e18ua0) opuod (1Y
09°092'5€8'6 £2'v€6'8L0'SY £2 PE6'8L0'GY €2 v£6'820'SY 09'092'5€8'6 €9'ELL'EVZ GE (L4U+0 LY+BU+BY+LU+0U+GU+ P+ EU+ZY+ LU=H) seuopediIEd H
00'¥88'662'L 00 ¥88'662'L 00 ¥88'662'L 00 ¥88'662'L 00'+88'662'L 000 SOIABS P LOIDR)SBId A Sauelg ap BlueA Jod sosaibuj "9
€L°L6Z'EL} 00°05¥'981 _oo.cmq,o? £2'251'802 00'000'584 LZ2SL'EL sowouweyoaandy ‘o
Z0'¥08'Z} 0L 0PY'LS 04 0pY'2S 0€'85.'18 82 '221'LE [809€9'vv S0RNPOId ‘3|
25'9L2'098'E fzvve0'1v's Jevvo0'Ley's G0°99¥%'809'L S¥'821'820'y 09'282'085'E soyoeleq ‘Ql
000 000 000 000 1000 000 sesolep 8p seuoNQUI0D D
000 jooo 000 000 Jooo 000 110 pepunbes ep ssuopeyody A selng g
68°800'1S6'Z G2 LrL'vr0's lscivewoe 69'£26'091'8 €8'061'290'¢ 98'264'260'S soisanduwy ‘v
ugioisodsiq )7 op soseabul

EpusioNG opupneasy opeBuasg opeoypon g opeunsy ordeauog
osasbuy /
220Z 9p 24qUID(IIP 8P LE [€ 043U 8P | |90 HAAVINOIS
4a1- Buj ap opeys3 af
eBuojoyy



Ge0% - 6202

9802 - 30z B i i
M.,m L»»@\_ PAL A (Mg ekuzgonhﬁmd\ MM@? o‘\wza,muorﬁ M<
~ 6208 HEA ‘VONO,
NEA VOROLOLTY b VHEOLVOIgNTg ﬁz%%ﬁwmzw%
S,NNHJMW »)w::l.h wM.wv SJMQD Em?‘@u Ez.wn% v g
VIHHHOSAL o OLNATRVEND £ -3 e

(z+1=¢€) L op Bul ‘¢

pejenbne L ep obBed ap ejuen) ucd l I ep U 6uy ‘2

ugisodsip auqy ap sosaubul op obied ap aen) uoo ! ap t b

soAgeuuoju; soyeq

v0'LZ0'116'66 joL g1 282182 92°151'282'202 02'189'6vY'562Z 8v°'956'£L0'901 ZLYEL'SLE 8L (1 + 11 + 1= Al) sosa.Buj ap 2101 “Al
[68'666'vL1'89 68'666'7L1'89 68'666'v21'89 69'666'7L1'89 68'666'P.L'89 000 Ieut 9p Sopeapuaq But 'y
68'666'7L1'89 |68'666'vLL'89 69'666'v.L'89 68'666'7L1'89 68'666'7LL'89 jooo (v =) uuelueLS 8p SOpEALa Buj “1i
60°4¥E'9SLZ) 60°CYS'SYY'orL 60°CPS TYY'ErL |5€°609'289°61 € 20¥'566°Z) 00°202°289°9E4 (3+Q+0+8+vV=1) n3 i SBf 'L 9p (2301 °H
WLSY'LSL'T WWLSY'ISL'E WWLSYISL'Z 17258151 1258181 000 ! § SeRualsjsuel) SeNO F
000 000 000 000 000 000 roeyqne & sauiotsuad & A B L
000 000 000 000 1000 000 oseuy opuod (29
00'0 000 000 Jooo 000 000 iH op oI SoIdIN A SBAT 4 nu3 esed 0puo (19
000 000 000 000 000 000 (Z9+19=0) seuopeyody 8p sojunsiqQ SOPUO4 ‘O
000 000 000 000 000 000 s0ipisqng A sowaauod soAi0 (#q)
00'0 000 000 000 000 000 uopeubisesy ep soweauc (€9
00°000'002- 000 000 000 00°000°002- 00°'000'00Z uopez|jesuensaq op sojusAuo (zq
000 000 {000 000 000 1000 PNjeg U [B0g U9IN3B}0Id 8p SOIUBAUCY) (14|
00°000'002~ 000 000 000 00°000°002- 00°000'00Z (¥q+£9+20+19=8) soueAU0) gl
000 feo.o 000 000 000 00°0 g 4 BU3 Sej 8p ojusIL 118 esed ap opuo (ge
000 000 000 IS‘o 000 000 1e19pa4 ouAsiq |p A sOpels3 so) 8p eaNqNd pepunbes e) esed sauopepody 8p 0puo (Le|
000 jooo 000 000 000 000 solnpy ap A eaib YR ey esed dy ep opuo (ge
000 000 000 000 00°0 000 saidyiniy sauopeyody ap opuo (e,
89'625'881°C |se0s0'126'27 59°050'126'L¥ 99°050'L26'2% 89'625'88L'E 00'525'28L'vP o R ) T ; o Ln_aw!-%,mcwguﬂw
00'85€'919°L 00°'SE0'1ZE'66 {00'se0'12¢'66 92 10L'655'66 92 ¥20'998'L 00'LL9'P0L' L6 |e10g einjonsaelyu| e eled sauoeyody 8p opuo (ge
000 jooo 000 000 00'0 000 pnjeg ap sopIAIog Sof esed sauopeuody 3p opuod (Ze
000 000 000 000 000 00'0 oApesedQ ojses) A eageonp3 eupuon el esed ssuopeyody 8p opuod (Le
89'€88'v08'0L 89'S80'26Z'LY) 89'980°262'L¥L 6 LSL'0EG LY V6 6YS'EV0'L L 00°20Z'£8Y'9E L (88+/B+0B+GE+pB+ER+Z8+| B=Y) SEuDENOdY Y
ZZOZ 2P JUGUIBIDIP OP LE B 040Ud Bp | |30 ,l.ﬁ.m <§0—w

4071 - opejjeiaq sosaibuj ap oopyeuy opes3 =
ebuojoly &




